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Solve for Maneuver Positions and Launch Azimuth {Continued)

Br, = sin~?! [cos ip/cos Lpl
An additional component is produced by the earth's
rotation which is approximately 465 cos Li mps,
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I VBo‘relative = VBo® * (ReR cosLy)
- 2 Vo fieR cOsL[, cos {90- BL]
I . cos it
cos (90° - By) = sin B =
I cos Ly,
Vao’rel = VBo® (feRe cosLy)?
I - 2 VBO ﬂeR cOos 1
VBo VB rel”
I sin (90° + gl) sin (90° - gp)
I VBO _ VBOrel
cos B* cos By,
I . Veo
cos Bt = —_— cos B
I ' VBO rel
Bl = azimuth in which the vehicdle must be fired.
I Assumption: distance and time ‘spent- during ascent to
the point of burnout are small.
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